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Answer (4) question only:
1* question:
A) choose the correct answer from the following and write only the chooses
words in your answer paper :
1-the ligaments which connect between humerus bone and fibula is:

a- lateral ligaments b- medial ligaments

C-anterior cruciate ligaments d-posterior cruciate ligaments

2- Anti-codon in t-RNA which responsible for transport methionine amino acid
is:a -UGA b-UAG c-UAC d-AUG

3- The number of chromosomes reduced into the half during formation of

sperms in ...... phase

a- Multiplication  b- Growth  c¢- Maturation d- Metamorphosis

4- Protein responsible for inhibit the lymphatic cells is:

a- Lymphokines b-cytokines c- chemokines d-interleukins

5- the hormone which affect the kidney action is:

a-TSH b-ADH c- FSH d-LH

a- The scientist which isolate the substance responsible for bacterial
transformation is: a-Griffith ~ b- Hershy c- Avery d- Franklin

B) What is the different between each of the following:

1- Restriction' enzyme and modification enzyme

2- Micropyle in ovule and micropyle in seeds

c) Answer the following:

1- Draw with complete labels the structure of antibody

2-molicule of DNA consists of 200 turn and contain 600 nucleotides of guanine.

Calculate a- number of nucleotides in this DNA molecule

b- Number of thymine nucleotides

2" question:

(A) Write the scientific term for each of the following statements:

1-Bony process attached with the spine ring of vertebrae and it directed

downwards

2-a tissue consists of separated cells present in pancreas and differentiates into




alpha and Beta cells
3- Single cells that are adapted for direct growth formed of cytoplasm with little
amount of water, a nucleus and a thick coat.
4-Nonspecific defense mechanism in the area of injury as a response to the
damage of tissues caused by the injury
5- Circular DNA molecules wound around clusters of histones
6-sequence of three nucleotides on m-RNA which copied from one strand of
DNA
(B) Answer the following:
1- What is the biological importance for this phenomenon?

a- Alternation of generation b- poly ploidy in plants
2- Mention only: the haploid stages in life cycle of plasmodium which cause the
malaria disease
( c) the next shape show one stage of the acquired immunity .. explain:
1- is this stage happen in humoral

immunity only? Or in cellular immunity 3., 2-1 - -
only? or in Poth types ? ‘(j, - .@3# =t
2- Name The labels 1,3 ”(a; ?b)‘ ’(C)V
3- What is the important of organelle
number (2)

4- What is the importance of MHC protein?
5- Why does the compound resulting from the binding between the antigen and
the MHC move to thesurface of cell membrane
3" question:
(a)Give reason for the following:
1- There is no ligaments in fibrous joints
2- Enlargement of some far bones at some adults
3- Sometimes we add extract of pollen grains on flower ovaries
4- Presence of the promotor on one strand of DNA
5- Presence of some non-codon parts in DNA
(b) Mention the place and function of:
1- Sertoli cells 2- glenoid cavity
(c) Answer the following:
1- Write the name of the chemical substance that secreted by this cells:
a- Cells of adrenal medulla b- neuro-secretory cells
c-Mast cells d- cells of Graafian follicle




2- Draw a complete labeled diagram showing the male gametes in man

4™ question:

(a)To what extent is the following statements are right.. Explain your answer?
1- Relaxation of the muscle need energy
2- All hormones is proteinic substance
3- Number of types of t-RNA equal number of amino acids
4- The secretion of progesterone hormone increase in pregnant woman with

dizygotic twins than woman pregnant with monozygotic twins
(b) The next figure explain a diagram of

section in ovary of adult female in different ' 1 E
stages .. in light of this answer the following: imﬁ’ | \ )
1- Write the name of the hormone D._y — Q N
responsible for formation number (1),(4) |@ e
2- How many chromosomal groups in cell i__iji%’

number (3)? and why?

3- Draw a diagram showing thickness.of
endometrium during growth of number(1) and during formation of
number (4)

(c) Answer the following:
1- Write short note about:
a) The reproductive capacities among organisms
b) Tyloses
2- The concept of replication differ from the concept of transcribed
5™ question:

(a)Compare between each two of the following:

1- Antheridia and anther(from the place and the importance)

2- The genome in prokaryotic and eukaryotic

3- The 1*' vertebrae and the last vertebrae of vertebral column (from place
and size)

(b) What will happen in this cases:

1- Absence of beta cells from Langerhans islets

2- Inability of activated TH to secrete cytokines

3- the large ribosomal subunit cannot bind with the small ribosomal subunit
during protein synthesis

4- presence of two tests in abdomen cavity in adult male

(c) mention the role of the following :
1- releasing factor  2- phenols  3- thymosin

4-petals 5- lymphatic toxins




